
SGJ DAV SEN. SEC. PUBLIC SCHOOL, HARIPURA 

Class – 4th (Assignment) 

Date – 1/9/25 

Instructions: 

Dear Students,  

We are sending you Homework. You have to solve this work 

in your notebook in a neat and clean way. You have to 

submit this work after the opening of school to your Subject 

Teacher. 

                         English   

Answer the following questions  

Q 1 Why was Rahul not happy even after winning the race .  (3) 

Ans  Rahul was not happy even after winning the race because he won the race by 

cheating Raj. 

Q 2  Do you think Rahul deserved the trophy ?      Give reason for your answer?   (3) 

Ans No Rahul did not deserve the trophy because he had cheated on  his friend Raj to 

win the race. 

Q3 Why was Mr Narayan Mausvekar horrified on  his second visit to the hospital? (3) 

Ans  He was horrified to see the baby did not have a hole in the left ear lobe  

Q 4 Where was the baby found?  (3) 

Ans. The baby was found sleeping peacefully beside the fisher woman 

                            Hindi  

लालच बुरी बला है कहानी को 100 शब्दों में ललखिए ।             (5 अकं) 



 एक समय की बात है। एक छोटे से गााँव में राम नाम का एक गरीब ककसान रहता था। वह बहुत मेहनती और 

ईमानदार था। ददन-रात मेहनत करके ही वह अपन ेपररवार का पालन-पोषण करता था।एक ददन जब राम 

अपने िेत में हल चला रहा था, तो अचानक उसके हल से जमीन में छछपा एक छोटा घडा छनकल आया। उसन े

उत्सुकता से घडा िोला तो उसमें सोन ेके चमचमाते लसक्के भरे हुए थे। यह देिकर ककसान की आाँिें चमक 

उठ ं।पहले तो उसन ेसोचा कक अब इन लसक्कों से वह अपने पररवार की सारी कदठनाइयााँ दरू कर सकता है। 

लेककन थोडी ही देर में उसके मन में लालच घर करने लगा। उसने सोचा—“यदद यह घडा मुझे लमल सकता है 

तो शायद और भी घडे जमीन के नीचे दबे होंगे।”लालच में आकर ककसान ने िेत की िुदाई शुरू कर दी। वह 

सुबह से शाम तक लगातार िोदता रहा, लेककन उसे और कुछ नहीं लमला। उल्टा, उसकी फसलें नष्ट हो गईं, 

िेत िोिला हो गया और मेहनत से जोतने योग्य जमीन भी िराब हो गई।अब ककसान को गहरा पछतावा 

हुआ। उसे समझ में आ गया कक अगर वह लालची न होता, तो िेत सुरक्षित रहता और वह अपने पररवार के 

साथ सुि-शांछत से जीवन व्यतीत कर सकता था। 

लशिा / सन्देश: 

इस कहानी से हमें यह लशिा लमलती है कक लालच मनुष्य का सबसे बडा शत्रु है।  

- 

                               Punjabi 

ਮੇਰਾ ਮਨ ਪਸੰਦ ਫਲ (ਅੰਬ)                 (5) 

1. ਮੈਨ ੂੰ ਫ਼ਲ ਖਾਣਾ ਬਹੁਤ ਪਸੂੰਦ ਹੈ। 

2. ਮੈਂ ਸੇਬ, ਸੰਤਰਾ, ਅਨਾਰ, ਅੰਬ ਤੇ ਅੰਗੂਰ ਆਦਦ ਸਾਰੇ ਫ਼ਲ ਖਾਂਦਾ ਹਾਂ 

3. ਸਾਰੇ ਫ਼ਲਾਾਂ ਵ ਿੱਚੋਂ ਮੈਨ ੂੰ ਅੂੰਬ ਸਭ ਤੋਂ  ਿੱਧ ਸਆੁਦ ਲਿੱਗਦਾ ਹੈ। 

4. ਪਿੱਕਾ ਅੂੰਬ ਬਹੁਤ ਵਮਿੱਠਾ ਹੁੂੰਦਾ ਹੈ।  

5. ਇਹ ਗਰਮੀ ਦੀ ਰੁਿੱਤ ਵ ਿੱਚ ਵਮਲਦਾ ਹੈ।  



6. ਅੂੰਬ ਵਸਹਤ ਲਈ  ੀ ਬੜਾ ਗੁਣਕਾਰੀ ਹੁੂੰਦਾ ਹੈ।  

7. ਅੂੰਬ ਦੀਆਾਂ ਲਗਪਗ 283 ਤੋਂ  ਿੱਧ ਵਕਸਮਾਾਂ ਹੁੂੰਦੀਆਾਂ ਹਨ। 

8. ਅੂੰਬ ਨ ੂੰ ਫ਼ਲਾਾਂ ਦਾ ਰਾਜਾ ਵਕਹਾ ਜਾਾਂਦਾ ਹੈ। 

9. ਮੂੰਮੀ ਮੈਨ ੂੰ ਅੂੰਬ ਦੀ ਕੁਲਫ਼ੀ  ੀ ਬਣਾ ਕੇ ਵਦੂੰਦੇ ਹਨ। 

10. ਕਈ  ਾਰ ਉਹ ਅੂੰਬ ਨ ੂੰ ਦੁਿੱਧ ਵ ਿੱਚ ਪਾ ਕੇ  ੀ ਵਦੂੰਦੇ ਹਨ। 

Maths  

Q1. Convert into grams: 46kg   358g                                                                                               

(2 marks) 

Sol:    46 kg = 46000g 

        358g  =   + 358g 

  46kg 358g = 46358g 

Q2. Convert into grams: 83kg  123g                                                                                                 

(2marks) 

Q3. In a class room there are 56 benches. How many benches are there in 348 class rooms?          

(3marks) 

Sol: Benches in one class room = 56 

     Benches in 348 class rooms = 348 

Q4. A book has 698 pages. How many total pages are there in 569 books?                                 

(3marks) 

Q5. Two friends, Karan and Mohan, ran around different fields. Karan ran around a rectangular 

field of length 18 m and breadth 12 m. Mohan ran around a square field of side 20 m. Who ran a 

longer distance?                       (5 marks)               

                                                                                                                                          Sol: 

Karan’s garden = Rectangle 

Length = 18 m, Breadth = 12 m 

Perimeter of rectangle = 2 × (Length + Breadth) 

= 2 × (18 + 12) 

= 2 × 30 

= 60 m 

Mohan’s field = Square 

Side = 20 m 



Perimeter of square = 4 × side 

= 4 × 20 

= 80 m 

Compare distances: 

Karan runs = 60 m 

Mohan runs = 80 m 

Mohan covers 20 m more than Karan.  

Q6.  A rectangular park has length 22 m and breadth 16 m. Another park is square-shaped with 

side 24 m. Find the difference in their perimeters.                                                                                        

(5marks) 

              Science  

Q1. How many sets of teeth are formed during one’s life time? Name them.(2 Marks)  

Answer: Two sets of teeth are formed during one’s lifetime. 

• Milk teeth 

• Permanent teeth 

Q2. Write any one difference between milk teeth and permanent teeth.(2 Marks)  

Answer: Milk teeth are 20 in number but permanent teeth are 32 in number. 

Q3. Draw the shape of the tap root and the fibrous root. (2 Marks)  

Answer: Following is the shape of the tap root and the fibrous root: 



 

                   Tap root            Fibrous root  

Q4. In what way(s) is the tap root different from the fibrous root?(2 Marks)  

Answer: Tap root is a single, long root with thin roots arising from it. Plants, like beans, 

rose, lady finger have tap roots. 

                    Social Science  

Q1. How can you ensure that your home is neat and clean at all times? 

Ans.1 By keeping the things at proper place.  

2.By wiping the floors every day. 

Q2. List three dangers that are posed by open garbage heaps. 



Ans.1. It creates a foul smell.  

2. Flies and mosquitoes breed on it.  

3. It spreads many diseases like malaria, cholera etc. 

 

 


